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ercise 13.3A

Lare told that V2= 1414, V3 = 1.732
2.236. Use this information to

alue of each of these. Show
and give your answers to 4

Yo ;
and V5=
estimate the v
your working,
significant figures.

, V2+V3 b V10
v d V120

\Write down four more surds whose value
can be estimated using the information
given in question 1, and estimate the values
of your surds.

Find the perimeter and area of each shape.
Give your answers in simplified surd form.

a 1+5

Expand the brackets and simplify.
a (1+V5) @2+ V5)

b (V3-1)(2+ V3)

¢ (4-V7)(6-2V7)

d (5+V2)(5-V2)

e (6+2V5)(6-2V5)
f (7+5V3)(7-5V3)

V5 2-5 | Ved 8\v2
V2 V20 3+v6 | 2+V5
3-V5 | 3V2 V10 \/100

From this table, find
a two numbers which are rational
b apair which add up to give 4

¢ apair where one number is double
the other

d  apair where one is the other squared
€  apair which multiply to give 4
a pair which multiply to give 48

-

the largest value

g
h

the smallest value.

6

10

Rewrite these fractions without surds in the
denominators.

a 1 V5
1-2V3 1+V5

. 1-V2 4+V2
1+V2 3-2V2

Simplify these expressions.
6+V27 2+V3

a 3 4

b Z9i3—3l/z—(5+\/28)
6+\/§+3+\/§

: 2 9
8 +V45 4+ V20

d —3 ~ 7 9

Find the size of the shaded area.
Give your answer in the form p(1 + V3)

where p is an integer.
4+ \27

43

2+\r4_8 23

The diagram shows two similar triangles.

6 +V2
2 +42

Find the scale factor of enlargement.
Give your answer in simplified surd form.
The numbers X, Y and Z are such that
Y’ = XZ.
a Find the number Zif X = V3 and
Y=1-V3.
Give your answer in the form p + qV3.

b  Explain why it would not be possible to
find YifX = V5and Z = 1~ V5.
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r 'é‘[o ‘ .'€
\/5 2 - \/5 \/62 8\/2- c:«\ 5: uf-l\'t"&e-«
V2 V20 3+V5 2+V5 =S f wl
3-V5 | 3V2 V10 V100 ¢
From this table, find fra, ar= rnkesers
a two numbers which are rational oo A&
b apair which add up to give 4 2445  2-[¢
¢ apair where one numberisdouble < , . 0 -
the other
d apair where one is the other squared [70  «-A [(so
e apair which multiply to give 4 3+5 , 3-J5
f apair which multiply to give 48 2 «-A 3/2
9 the largest value ¢/z
h  the smallest value. 2 — {5
4+V2 - +12
é) ¢ 32va - Zre 1 k2R
$-2£2 3+ 2/
= 12 + 23z +8f +4
30 —(25)7
= )6+ (([2
= e +1l{z
4 — B
E rescise Conm y lete c e L. c



6 Rewrite these fractions without surds in the

denominators.
- 1 " V5
1 —-2V3 1+ V5
. 1 -V2 3 4+ V2
1+ V2 3 —-2V2
4«9 , ~ | N | + 2 [z
| -2 /32 [~2/3 | +243
~ ) 23 - ) +2 )3
1% - (2D | — 12
= ] +2/z
— 1|
of - =23
)
( :
) 5.5, vE | e
) 4+ .f? j+J05 (—{S R
= Jc-¢
| — <
= Jr-5
—a
ar 5‘.—1’52
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7  Simplify these expressions.

6+Vv27 (2+V3)
3 4

b 2o+3\/7_(5+\/-2—8)

3
6+\/§+3+\/§
. 2 9
8 +V45 4+ V20
d 5 - W

Th)  Zo+3{7  _ (5 4+ [z7)
S

20+ 317 ,-(5’4—-2_.6‘)
3

206 +3> —3(8’4—2/3)
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la) (é 'f‘./zf"l_)_\(z_,g-ﬁ)
< 4

4(6+ i) —3(z+h)

—

(X
= 4(C+r3E)-3(2+15)
) 2

- 24—4—‘?@"6/35

|2
_ 1€ + 4903 _ q(2+03)
)L 12
= 3(2+/3)
4
C less wosk 7 C a~d 7
7 6+\/§+3+\/i _ alt+rzi) + 2 (3+R)
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§+Va5 4+V20  3(9435)-(4+2F)
7d 3 9 -

2

= 24445 —q4—2(7
9

= 20 + /s
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